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P…h]‰ı 

{…⁄h……»EÚ : 60 
 

{…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… : 
GENERAL INSTRUCTIONS TO THE EXAMINEES : 
1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

Candidate must write first his / her Roll No. on the question paper 
compulsorily. 

2. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ 
{…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 
If there is any error / difference / contradiction in Hindi & English 
versions of the question paper, the question of Hindi version should be 
treated valid. 

3. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩÈ˛*  
All the questions are compulsory.  

4. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â* 
 Write the answer to each question in the given answer-book only. 
5.  V…∫… |…∂x… E‰Ú BEÚ ∫…‰ + v…EÚ ∫…®……x… +ΔEÚ¥……±…‰ ¶……M… ΩÈ˛, =x… ∫…¶…“ ¶……M……Â EÚ… Ω˛±… BEÚ ∫……l… 

∫…i…i…¬  ±…J…Â* 
 For questions having more than one part carrying similar marks, the 

answers of those parts are to be written together in continuity. 
6.  x…§…xv……i®…EÚ |…∂x… GÚ®……ΔEÚ 23 ¥… 24 ®…Â +…Δi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 

There are internal choices in the essay type Question  Nos. 23 and 24. 
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7. |…∂x… ∫…ΔJ™…… 2 ∫…‰ 7 i…EÚ + i… ±…P…⁄k…Æ˙…i®…EÚ ΩÈ˛,  V…x…E‰Ú |…i™…‰EÚ =k…Æ˙ ±…M…¶…M… 30 ∂…§n˘…Â ®…Â   
n‰˘x…‰ ΩÈ˛* 

 Question Nos. 2 to 7 are very short answer type. The answers of these 
questions should be given in approximately thirty words each. 

8. |…∂x… ∫…ΔJ™…… 8 ∫…‰ 15 i…EÚ ±…P…⁄k…Æ˙…i®…EÚ (i) ΩĘ̀  V…x…E‰Ú |…i™…‰EÚ =k…Æ˙ ±…M…¶…M… +…v…‰ {…fiπ`ˆ ®…Â    
n‰˘x…‰ ΩÈ˛* 

 Question Nos. 8 to 15 are short answer (i) type. The answers of these 
questions should be given in approximately half page each. 

9. |…∂x… ∫…ΔJ™…… 16 ∫…‰ 21 i…EÚ ±…P…⁄k…Æ˙…i®…EÚ (ii) ΩÈ˛  V…x…E‰Ú |…i™…‰EÚ =k…Æ˙ ±…M…¶…M… BEÚ {…fiπ`ˆ ®…Â  
n‰˘x…‰ ΩÈ˛*  

 Question Nos. 16 to 21 are short answer (ii) type. The answers of these 
questions should be given in approximately one page each. 

10. |…∂x… ∫…ΔJ™…… 22 ∫…‰ 24  x…§…xv……i®…EÚ ΩÈ˛  V…x…E‰Ú |…i™…‰EÚ =k…Æ˙ ±…M…¶…M… 3 ∫…‰ 4 {…fiπ`ˆ…Â ®…Â n‰˘x…‰ ΩÈ˛* 
 Question Nos. 22 to 24 are essay type. The answers of these questions 

should be given in approximately 3 to 4 pages each. 
11. |…∂x… GÚ®……ΔEÚ 1 E‰Ú S……Æ˙ ¶……M… ( i, ii, iii i…l…… iv) ΩĘ̀* |…i™…‰EÚ ¶……M… E‰Ú =k…Æ˙ E‰Ú S……Æ˙  ¥…EÚ±{… 

(+, §…, ∫… B¥…Δ n˘ ) ΩÈ˛* ∫…Ω˛“  ¥…EÚ±{… EÚ… =k…Æ˙…I…Æ˙ =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â  x…®x……x…÷∫……Æ˙ i…… ±…EÚ… 
§…x……EÚÆ˙  ±…J…Â : 
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has 
four alternatives A, B, C and D. Write the letter of the correct alternative 
in the answer-book at a place by making a table as mentioned below : 

 |…∂x… GÚ®……ΔEÚ 

Question No. 

∫…Ω˛“ =k…Æ˙ EÚ… GÚ®……I…Æ˙ 

Correct letter of 
the Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

1. (i) ™… n˘ ¥…M……Á E‰Ú +Δi…Æ˙…±… ∫…®……x… x…Ω˛” Ω˛…Â, i……‰ EÚ…Ëx…-∫…“ Æ˙“ i… ∫…‰ ∫…®……xi…Æ˙ ®……v™… Y……i… EÚÆ˙x…… 
={…™…÷HÚ Æ˙Ω˛i…… ΩË˛ ? 

  (+) |…i™…I… Æ˙“ i… (§…) ±…P…÷ Æ˙“ i… 

  (∫…) ™……‰M… Æ˙“ i… (n˘) {…n˘  ¥…S…±…x… Æ˙“ i…* 
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 Which method is more suitable to calculate Arithmetic mean, if 
class intervals are not equal ? 

  (A) Direct method (B) Shortcut method 

  (C) Summation method (D) Step-deviation method.   12   

(ii) ∏…‰h…“ 29, 35, 65, 20, 49, 50, 38 ®…Â ®…v™…EÚ… EÚ… ®……x… ΩË˛ 

 (+) 38 (§…) 65 

 (∫…) 29 (n˘) 49. 
 Median value of the series 29, 35, 65, 20, 49, 50, 38 is 

  (A) 38 (B) 65 

  (C) 29 (D) 49. 1
2   

(iii) ™… n˘  EÚ∫…“ ∏…‰h…“ ®…Â + v…EÚi…®… ®……x… 450 +…ËÆ˙ x™…⁄x…i…®… 150 ΩÈ˛, i……‰  ¥…∫i……Æ˙ M…÷h……ΔEÚ 
Ω˛…‰M…… 

  (+) 0·5 (§…) 0·05 

  (∫…) 0·005 (n˘) 1. 

 If the highest value is 450 and the lowest value is 150 in a 
series, then the coefficient of range would be 

  (A) 0·5 (B) 0·05 

  (C) 0·005 (D) 1. 1
2   

 (iv) |…l…®… {……ƒS… |……EfiÚi… ∫…ΔJ™……+…Â (1, 2, 3, 4, 5)  EÚ… |…®……{…  ¥…S…±…x… ΩĘ̈ 

  (+) 
12
25  (§…) 

25
12  

  (∫…) 
2

1  (n˘) 2 . 

  Standard deviation of first five Natural numbers (1, 2, 3, 4, 5) is 

  (A) 
12
25  (B) 

25
12  

  (C) 
2

1  (D) 2 . 1
2   
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2.  ¥…ß…®… B¥…Δ +∂…÷ r˘ ®…Â BEÚ +xi…Æ˙ §…i……<B* 
 State one difference between error and mistake.  1 

3. ∫……®…⁄ Ω˛EÚ ∫…®……xi…Æ˙ ®……v™… Y……i… EÚÆ˙x…‰ EÚ… ∫…⁄j…  ±… J…B*  
 Write the formula to calculate combined arithmetic mean. 1 

4.  x…®x… +…ΔEÚc˜…Â ∫…‰ |…i™…‰EÚ EÚ… ®…⁄±™……x…÷{……i… Y……i… EÚ“ V…B : 

¥…∫i…÷ +…v……Æ˙ ¥…π…« EÚ“ EÚ“®…i… S……±…⁄ ¥…π…« EÚ“ EÚ“®…i… 

M…‰Ω÷ƒ˛ 
n⁄˘v… 

500 Ø˚0 

15 Ø˚0 

900 Ø˚0 

20 Ø˚0 

 Calculate Price Relatives of each from the following data :  1 

Commodity Base year price Current year price 
Wheat 
Milk 

Rs. 500 
Rs. 15 

Rs. 900 
Rs. 20 

5. Œ∫l…Æ˙ +…v……Æ˙ ∫…‰       +…v……Æ˙ ®…Â ∫…⁄S…EÚ…ΔEÚ {… Æ˙¥…i…«x… E‰Ú ∫…⁄j… EÚ…‰ ∫{…π]ı EÚ“ V…™…‰*  
 Explain the formula of conversion of Index Number from Fixed base to 

Chain base. 1 
6. ={…¶……‰HÚ… ®…⁄±™… ∫…⁄S…EÚ…ΔEÚ EÚ“ Æ˙S…x…… ®…Â +…x…‰ ¥……±…“ EÚ…‰<« BEÚ EÚ `ˆx……<« §…i……<™…‰* 
 State any one difficulty in the construction of Consumer Price Index. 1 

7. ={…¶……‰HÚ… ®…⁄±™… ∫…⁄S…EÚ…ΔEÚ Y……i… EÚ“ V…B, ™… n˘ 234400 =∑ qp , 278401 =∑ qp .  
 Find out Consumer Price Index Number, 
  if  234400 =∑ qp , 278401 =∑ qp . 1 

8. "∫……ΔŒJ™…EÚ“' EÚ… BEÚ ¥…S…x… E‰Ú ∞¸{… ®…Â +…∂…™… §…i……<™…‰*  
 State the meaning of ‘statistics’ in singular sense. 2 

9.  x…®x… ∫…ΔS…™…“ +…¥…fi k…  ¥…i…Æ˙h… EÚ…‰ ∫……v……Æ˙h… +…¥…fi k…  ¥…i…Æ˙h… ®…Â {… Æ˙¥…Ãi…i… EÚ“ V…™…‰ :  

+…™… (Ø˚{…™…‰ ®…Â) 
10 ∫…‰ 
EÚ®… 

10-20 
30 ∫…‰ 
EÚ®… 

30-40 
40 +…ËÆ˙ 
+ v…EÚ 

50 +…ËÆ˙ 
+ v…EÚ 

¥™… HÚ™……Â EÚ“ ∫…ΔJ™…… 4 6 28 18 7 3 

 Convert the following cumulative frequency distribution into simple 
frequency distribution : 2  

Income (Rs.) 
Less 
than 
10 

10-20 
Less 
than 
30 

30-40 40 and 
more 

50 and 
more 

Number of persons 4 6 28 18 7 3 
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10. {…n˘  ¥…S…±…x…  ¥… v… ∫…‰ ∫…®……xi…Æ˙ ®……v™… Y……i… EÚÆ˙x…‰ E‰Ú ®…÷J™… {…n˘  ±… J…B* 
Write the main steps to find out the Arithmetic mean by step deviation 
method. 2 

11. ¶……Æ˙ ( EÚO……) 40 41 42 43 44 45 

 UÙ…j……Â EÚ“ ∫…ΔJ™…… 7 12 15 30 18 12 

 ={…Æ˙…‰HÚ +…ƒEÚc˜…Â ∫…‰ ∫…®…⁄Ω˛x… u˘…Æ˙… §…Ω÷˛±…EÚ Y……i… EÚ“ V…™…‰*  

 Weight (kg) 40 41 42 43 44 45 

 No. of students 7 12 15 30 18 12 

 Find out the Mode from the above data by Grouping. 2 

12. S…i…÷l…«EÚ  ¥…S…±…x… C™…… ΩË˛ ? <∫…EÚ… ∫…⁄j… ¶…“ n˘“ V…™…‰* 
 What is Quartile Deviation ? Give its formula also. 2 
13.  x…®x… ∫…®…ΔEÚ…Â‰ ∫…‰ ®……v™…  ¥…S…±…x… Y……i… EÚ“ V…™…‰ : 
 45,13,27,531,18,114 =∑==∑=∑=∑=∑ fMffXffX AABB   
 Find out Mean Deviation from the following data : 
 45,13,27,531,18,114 =∑==∑=∑=∑=∑ fMffXffX AABB . 2 

14. ∫…®¶……¥™…  ¥…ß…®… EÚ“ M…h…x…… EÚ“ V…™…‰, ™… n˘ 
 (i)  ∫…Ω˛-∫…®§…Δv… M…÷h……ΔEÚ ( γ  ) = 0·7 

 (ii) {…n˘™…÷M®……Â EÚ“ ∫…ΔJ™…… (N) = 100.  
 Calculate probable error, if 
 (i)  Coefficient of correlation ( γ  ) = 0·7 
 (ii) No. of pairs of items (N) = 100. 2 

15.  x…®x… i…… ±…EÚ… ∫…‰ RW∑  EÚ… ®……x…  x…EÚ… ±…™…‰ :   

®…nÂ̆ +…v……Æ˙ ¥…π…« EÚ“ EÚ“®…i…Â +…v……Æ˙ ¥…π…« EÚ… ¶……Æ˙ S……±…⁄ ¥…π…« EÚ“ EÚ“®…i…Â 
A 10 50 15 
B 15 60 20 
C 12 96 25 
D 8 24 20 

 Calculate the value of RW∑  from the following table : 2  

Items Price in Base year Value weight in 
Base year 

Price in  
Current year 

A 10 50 15 
B 15 60 20 
C 12 96 25 
D 8 24 20 
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16. ∫……ΔŒJ™…EÚ“ ®…Â + ¥…∑……∫… E‰Ú EÚ…Æ˙h……Â {…Æ˙ |…EÚ…∂… b˜… ±…™…‰ (EÚ…‰<« i…“x…)*  
 Highlight the causes of Distrust in Statistics. ( Any three ) 3 

17. ®…v™…EÚ… B¥…Δ §…Ω÷˛±…EÚ EÚ… +l…«  ±… J…™…‰* 
 Write the meaning of Median and Mode. 3 
18. ±……ÏÆÂ˙V… ¥…GÚ §…x……x…‰ EÚ“ |… GÚ™…… E‰Ú {…n˘…Â EÚ… ¥…h…«x… EÚ“ V…™…‰*  
 Describe the steps involved in the construction of Lorenz curve. 3 
19.  x…®x… ∫…®…ΔEÚ…Â ∫…‰ EÚ…±…«  {…™…∫…«x… E‰Ú ∫…Ω˛-∫…®§…Δv… M…÷h……ΔEÚ EÚ“ |…i™…I… Æ˙“ i… ∫…‰ M…h…x…… EÚ“ V…™…‰ :  

x 1 3 5 7 9 11 13 15 
y 2 4 6 8 10 12 14 16 

 Calculate Karl Pearson’s coefficient of correlation from the following 
data by Direct method : 3 

x 1 3 5 7 9 11 13 15 
y 2 4 6 8 10 12 14 16 

20. ∫…Ω˛-∫…®§…Δv… EÚ“  EÚxΩ˛” i…“x… ∫…“®……+…Â EÚ…‰ §…i……<™…‰*  
 State any three limitations of correlation. 3 

21. ∫…⁄S…EÚ…ΔEÚ…Â E‰Ú |…EÚ…Æ˙ EÚ…‰  ¥…∫i……Æ˙ ∫…‰  ±… J…B*  
 Write in detail the kinds of Index Numbers. 3  

22.  x…®x… ∫…®…ΔEÚ…Â ∫…‰ {…n˘- ¥…S…±…x…  ¥… v… u˘…Æ˙… |…®……{…  ¥…S…±…x… Y……i… EÚ“ V…B : 

|……{i……ΔEÚ 0-10 10-20 20-30 30-40 40-50 50-60 

 ¥…t…Ãl…™……Â EÚ“ ∫…ΔJ™…… 12 18 27 20 17 6 

 Calculate Standard Deviation from the following data by step deviation 
method : 6 

Marks obtained 0-10 10-20 20-30 30-40 40-50 50-60 

No. of students 12 18 27 20 17 6 

23.  x…®x……Δ EÚi… EÚ…‰ =n˘…Ω˛Æ˙h… B¥…Δ  S…j… u˘…Æ˙… ∫…®…Z……<B : 

 (i) ∫…Æ˙±… n˘hb˜  S…j… 

 (ii) §…Ω÷˛M…÷h…“ n˘hb˜  S…j… 

 (iii)  ¥…S…±…x… n˘hb˜  S…j…* 

+l…¥…… 

  u˘- ¥…®…“™…  S…j……Â EÚ…‰ =n˘…Ω˛Æ˙h… B¥…Δ  S…j……Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ ∫…®…Z……<B* 
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 Explain the following with example and diagram : 
 (i) Simple Bar Diagram 
 (ii) Multiple Bar Diagram 
 (iii) Deviation Bar Diagram.  

OR 
 Explain Two-dimension diagrams with the help of examples and 

diagrams. 6 

24.  x…®x… ∏…‰ h…™……Â ∫…‰ ∫{…“™…Æ˙®…Ëx… EÚ…‰ ]ı-+xi…Æ˙  ¥… v… u˘…Æ˙… EÚ…‰ ]ı ∫…Ω˛-∫…®§…Δv… M…÷h……ΔEÚ EÚ“ M…h…x…… 
EÚ“ V…B : 

x 82 76 73 68 73 60 56 66 

y 12 13 14 14 14 20 26 22 

+l…¥…… 

 BEÚ +l…«∂……∫j…“ EÚ“ ΩË˛˛ ∫…™…i… ∫…‰ ∫…Ω˛-∫…®§…Δv… E‰Ú  ¥… ¶…z… |…EÚ…Æ˙…Â EÚ…  ¥…∫i……Æ˙ ∫…‰ ¥…h…«x… EÚ“ V…B* 

 Calculate the coefficient of Rank correlation by Spearman’s rank 
difference method from the following series : 

x 82 76 73 68 73 60 56 66 

y 12 13 14 14 14 20 26 22 

OR 

 As an economist describe in detail the various types of correlation. 6 

    


